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5_E6_97_A5_E6_c69_458091.htm 1.Some plants are so sensitive

________ pollution that they can only survive in a perfectly clean

environment. A） from B） against C） to D） with 2.It does not

alter the fact that he was the man ________ for the death of the little

girl. A） accounting B） guilty C） responsible D） obliged

3.Medical care reform has become this country‘s most important

public health ________. A） question B） stuff C） event D）

issue 4. I used to smoke ________ but I gave it up three years ago. A

） seriously B） heavily C） badly D） severely 答案及解析： 1.

原文译文： 有些植物对污染很敏感，只能在非常干净的环境

中才能存活。 解析：be sensitive to 对⋯⋯敏感。所以正确答

案应该选择C. 2.原文译文： 他对这个小女孩的死负责，这个

事实不可改变。 解析：be responsible for 对⋯⋯负责。account

for v.说明， 占， 解决， 得分，be guilty of有⋯⋯之罪，be

obliged to不得不。所以正确答案应该选择C. 3.原文译文： 医

疗改革已经成为这个国家最重要的的公共卫生解析：stuff原

料， 材料， 素材资料，event事件， 事变， 盛世。issue论点

， 问题， 结果。 所以正确答案应该选择D. 4.原文译文：我过

去抽烟很凶，但我三年前戒了。 解析：抽烟凶用heavily修饰

。英语中有些形容词和名词的搭配是固定的，需要逐个记忆

。 所以正确答案应该选择B. 100Test 下载频道开通，各类考试

题目直接下载。详细请访问 www.100test.com 


